2023 HAS!)—EFEFH#E Point Standing (BC1_Driver)

Class | Pos Name rd01 | rd02 | rdO3 | rd04 | rdO5 | rd06 | rdO7 | Total
BC1 1[;E8 3EKER 20 20 15[ 20| 15 90
BC1 2|FT B M KER 10 10 6] 10| 12 20 68
BC1 3|IIBA 4 12| 15 20 47
BC1 4| LR Fl7= 15 12| 15 42
BC1 5|tk ik HK[E 10 8 12 30
BC1 6|UEHT 2 20 6 26
BC1 1|75 & 8| 12 20
BC1 8|HYOMA 15 15
BC1 9|F Mt 1E1E 4 10 14
BC1 10(BAT &R fE4T 4 6 3 13
BC1 1[ES &EE 12 12
BC1 12(REiR BYE 6 6 12
BC1 13|FHE EH 10 10
BC1 14| &8 XA 8 8
BC1 | 14|Rx E#t 0 8 8
BCT 14|ER EIL 8 8
BC1 17| E8E EX 3 3 0 6
BC1 18|8M@A FHA 4 0 4
BC1 18| &R =R 4 4
BC1 18|71l BT 4 4
BC1 | 21|54 &E 3 3
BC1 | 21[/hE &R 0 3 3
BC1 23| &R B2BR 0 0 0 0
BC1 23[R iE 0 0 0 0
BC1 | 25|&E F=E 0 0 0
BC1 | 26|/ &= 0 0
BC1 | 26|dtm F 0 0
BC1 26| % ZE 5T 0 0
BC1 26|#5°K 0 0
BC1 26;EH R—EfR 0 0
BC1 | 26[/NEFF HEA 0 0
BC1 | 26|41l &k 0 0
2023 HAS!)—EFEFH#E Point Standing (BC2_Driver)
Class | Pos Name rd01 | rd02 | rdO3 | rd04 | rdO5 | rd06 | rdO7 | Total
BC2 18 Fo 15| 15[ 15 8 12 65
BC2 2|18/ K IEA 8 20 12 3 43
BC2 3|/MEE A 20 8 12 40
BC2 HEAR K e 10 20 10 40
BC2 5|@5)1 ZR— 12 6] 15 3 4 40
BC2 6|/NFK {H1E 8] 20 10 38
BC2 7150 #A 20 20
BC2 7|iEER shts 20 20
BC2 9|KH & 4 12 0 16
BC2 | 10|pkH EE 6] 10 0 16
BC2 | 11|KRTF § 15 15
BC2 | 11|&[E &Rk 15 15
BC2 13|Sebastien Sagawa 12 12
BC2 | 14|HARU 10 10
BC2 | 20|EM &% 0 0




2023 HAS!)—EFEFH#E Point Standing (BC3_Driver)

Class | Pos Name rd01 | rd02 | rdO3 | rd04 | rdO5 | rd06 | rdO7 | Total
BC3 1|8 8— 20 20 20 20 0 80
BC3 2|1ER BF 12 15 15 8 50
BC3 W ARHA 12 15 27
BC3 AlRE EE 15 0 10 25
BC3 5|Hik EiE 12 12 24
BC3 6|HIAK BhE 20 20
BC3 6|HF EX 20 20
BC3 8|¥aH 3 15 15
BC3 8| 2R RFE 15 15
BC3 | 10|Fi¥ E#2 12 3 15
BC3 | 11|Ha&E & 12 0 12
BC3 | 12[;EI& @l 10 10
BC3 | 12[5K & 10 10
BC3 | 12|thH #EE 10 10
BC3 | 15|&2& 50T 6 6
BC3 | 16|&M #hALD 4 4
BC3 [ 17|#HE f#— 0 0
2023 HAS!)—EFH#E Point Standing (BC4_Driver)
Class | Pos Name rd01 | rd02 | rdO3 rd07 | Total
BC4 1=@ 20 20 40
BC4 2|7 T 15 15 30
BC4 3|FEAT &= 100 > 12 22
BC4 AR BE{Z 12) = 12
BC4 5|ERE 15— K- 0 0




2023 HAS')—FEFH# Point Standing (BC1_Co_Driver)

Class | Pos Name rd01 | rd02 | rdO3 | rd04 | rdO5 | rd06 | rdO7 | Total
BCT 1Rk = 20/ 20 15 15 70
BC1 2|11 EXF 10 10 6] 10| 12 20 68
BC1 3|5 H ME 12| 15 20 47
BC1 4| E1E BF 15| 20 35
BC1 5| EFFHa—ER 10 8 12 30
BC1 6|4 A 3T Z I 12| 15 27
BC1 UL R 20 20
BC1 8|5 F 8l 12 20
BC1 |k i#E hEF 15 15
BC1 10(RE &% 4 10 14
BC1 11(BTER TR K 4 6 3 13
BC1 12[3Z A F1F 12 12
BC1 13|8EIR BEER 6 6 12
BC1 14| A FA 10 10
BCT1 15/ %7 I 8 8
BC1 15[/NEFF BEA 8 0 0 8
BC1 15(8iE EA 0 8 8
BC1 18|ARHE E& 6 6
BC1 19|48 < K EB 3 3 0 6
BCT1 20(IL A FH Kig 4 0 4
BC1 | 20O & 4 4
BC1 | 20|%Efk && 4 4
BC1 23| 545 of 3 3
BC1 23K Z7— 0 3 3
BC1 | 25|84tk &% 0 0 0 0
BC1 | 26|F#e X 0 0 0
BC1 26| &R EfE 0 0 0
BC1 | 28| IR 0 0
BC1 | 28|t IE 0 0
BC1 | 28k —4& 0 0
BC1 | 28| KE B 0 0
BC1 | 28|48 HF 0 0
BC1 28| BT ER FON 0 0
2023 HAS')—FEF# Point Standing (BC2_Co_Driver)
Class | Pos Name rd01 | rd02 | rdO3 | rd04 | rdO5 | rd06 | rdO7 | Total
BC2 1{3 FEE 15| 15[ 15 8 12 65
BC2 2 %El EH/MF 8 20 12 3 43
BC2 3|RII B8k 20 20 40
BC2 ARE S 20 8 12 40
BC2 4E=RE BN 10 20 10 40
BC2 6|[RHE £— 12 15 3 4 34
BC2 VAL i 20 20
BC2 8|5k F= 4 12 0 16
BC2 |k i#E hEF 15 15
BC2 9L AF Kig 15 15
BC2 | 11|wvx4O™ 12 12
BC2 | 12[{EAK #* 10 0 10
BC2 | 12|&H #— 10 10
BC2 | 12|EE% E&4r 10 10
BC2 | 15(/MH3T #— 8 8
BC2 | 17|&W & 6 6
BC2 | 17|KFE HE 6 6
BC2 | 21|25 BR 4 4
BC2 | 22|B% ,Tff% 3 0 3
BC2 | 23|BAX iz 0 0
BC2 | 23|WuF #HFE 0 0
BC2 [ 23|)I1& B 0 0




2023 HAS')—FEFH# Point Standing (BC3_Co_Driver)

Class | Pos Name rd01 | rd02 | rdO3 | rd04 | rdO5 | rd06 | rdO7 | Total
BC3 HENTES 20 20 20[ 20 0 80
BC3 2|1 FH XX 12 15 15 42
BC3 3IIRE MK 15 15 30
BC3 4B —=8 20 8 28
BC3 5|7K7k BEXR 12 12 24
BC3 6L HEB 20 20
BC3 718 & 15 15
BC3 1B B— 15 15
BC3 9|Ih Il #h 12 3 15
BC3 | 10|#%El% 5 12 12
BC3 | 10|Efth £ 12 0 12
BC3 | 12|85k (B 10 10
BC3 | 12|/h R K 10 10
BC3 | 12| K% FEA 10 10
BC3 | 12|i%:Z fz 10 10
BC3 | 16|&A& A 6 6
BC3 | 17| K3t =] 4 4
BC3 | 18[5kHE ;TA 0 0
BC3 | 18|FEE B 0 0
2023 HAS')—FEFH# Point Standing (BC4_Co_Driver)
Class | Pos Name rd01 | rd02 | rdO3 rd07 | Total
BC4 18 E HHt 20 20 40
BC4 2|7 BK 15 15 30
BC4 3|ikHA &8 100 & 12 22
BC4 4|ch#f BEE 12 = 12
BC4 5| %% £1h K- 0 0




